PR3 Williams Budget

Williams Family Budget

Monthly Income
sSalary 875
Kelly's Salary 3150
Total =SUM(8B4:B5)

Additional Income
Financial Aid 9000

Expenses [ Rent Options |
Food =AVERAGE(B32:M32) [o1d [650 |
Utilities VERAGE(B33:M33) [New |10s0 |
Phone =AVERAGE(B34:M134)
Car Payments  =AVERAGE(B35:M35) [Which rent should be used in the
Insurance VERAGE(B36:M36) old
Tuition =AVERAGE(B37:M37)

VERAGE(B38:M38)

Travel =AVERAGE(B39:M39)

Miscellaneous \VERAGE(B40:M40)

Total =SUM(B13:B21)

Income & Expenses JAN FEB MAR APR MAY JUN JuL AUG SEP oct NOV DEC

Income

[ salaries 5856 =556 =$856 5856 =$B56 =58%6 5856 =58%6 =58%6 =58%6 =58%6 5856
Financial Aid 3000 3000 3000

[Fotal =SUM(B27:828) =SUM(C27:C28) =SUM(D27:D28) =SUM(E27:E28) =SUM(F27:F28) =SUM(G27:G28) =SUM(H27:H28) =SUM(127:128) =5UM(127:328) =SUM(K27:K28) =SUM(L27:128) =SUM(M27:M128)

Expenses
Rent =IF($D$17="01d",SES13,$E514) | =IF($D$17="0ld" SES13,5E$14) |=IF(SD$17="0ld" SES13,$E$14) |=IF(SD$17="0ld",SES13,SES14) |=IF(SDS17="0ld" SES13,5E$14) |=IF(SDS$17="0Id",SES13,SES14) |=IF(SDS17="0ld" SES13,5E$14) |=IF(SD$17="0Id",SES13,SES14) |=IF(SDS17="0ld" SES13,5E$14) |=IF(SD$17="0ld",SES13,$E$14) |=IF(SDS$17="0ld" SES13,5E$14) |=IF(SD$17="0ld" SES13,$ES14)
Food 875 730 795 825 855 815 885 920 942 875 975 1050
Utilities 255 230 200 195 150 165 175 165 160 160 200 235
Phone 120 131 125 138 120 145 140 135 145 135 165 175
Car Payments 210 210 210 210 210 210 210 210 210 210 210 210
Insurance 375 375 375 425 425 425 520 520 520 520 520 520
Tuition 5192 0 o 0 o 2419 o 5881 [ o [ 0
Books & Supplies _|2115 0 0 0 0 975 o 2450 [ o [ 0
Travel 320 150 210 720 175 350 1200 625 185 215 420 480
Miscellaneous 200 250 120 150 250 120 150 175 210 250 270 350

Total [T =sum(s31:840) F=sumi(c31:ca0) [&7=5UM(D31:040) [=sum(e31:€40) [ =sUM(F31:F40) 7'=5UM(G31:640) &7 =SUM(H31:H40) [ =sum(i31:120) [E-=sumu31:120) F=sum(K31:k40) [&-=sum(L31:140) [F=sum(m31:M40)

Net Cash Flow. =829-841 =C29-ca1 =D29-D41 =E29-641 =F29-F41 =629-G41 =H29-H41 129141 29141 =K29-K41 120141 =M29-M41

Running Total | | | i ) § | =5t | | ) =SUM($B$42:M42)
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